





There are six members A, B, C, D, Eand F in
the family of three generations. No single
person has a child. E’s father’s mother-in-law
IS F. Cis the only son of B. Ais bother-in-law
of C. The gender of B and E is same.
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There are six members A, B, C, D, Eand F in
the family of three generations. No single
person has a child. E’s father’s mother-in-law
IS F. Cis the only son of B. Ais bother-in-law
of C. The gender of B and E Is same.

How Is C related to E?

C, E 9 $¥ Udfdd g2

1) Mother / HIdI

2) Father / LGl

3) Nephew / HeloIl
4) Uncle / dTdl

5) Grandfather / Il



There are six members A, B, C, D, Eand F in
the family of three generations. No single
person has a child. E’s father’s mother-in-law
IS F. Cis the only son of B. Ais bother-in-law
of C. The gender of B and E is same.

Four are the same in a certain way thus forms
a group. Which among the following does not
belong to the group?
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1) C
2) A
3) E
=
5) B




There are six members A, B, C, D, Eand F in
the family of three generations. No single
person has a child. E’s father’s mother-in-law
IS F. Cis the only son of B. Ais bother-in-law
of C. The gender of B and E Is same.

Fis of D.

E D I =

1) Brother / ‘J-I'I'sc
2) Grandmother / A

3) Father / o

4) Sister / dgd
5) Mother / HIdI



A, B,C, D E FG,H, and | are the nine
members of a family. Either both the parents of
a person are alive or neither of them is alive. G
Is the daughter of B who is the daughter-in-law
of D. Cis the daughter of E who is the brother
of A. D is the mother of A. C and G are sisters.
| Is the paternal grandfather of F who is the
only son of H. D has no daughters.
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A, B,C, D E FG,H, and | are the nine
members of a family. Either both the parents of
a person are alive or neither of them is alive. G
Is the daughter of B who is the daughter-in-law
of D. Cis the daughter of E who is the brother
of A. D is the mother of A. C and G are sisters.
| Is the paternal grandfather of F who is the
only son of H. D has no daughters.

How is H related to D?

H, D ¥ 5T YR Tdfid g2

1) Mother / HIdI

2) Mother-in-law / 'FIE'\’E_-[FIT

3) Daughter-in-law / S'IETEFIT
4) Son-in-law / '\‘:FIETIFIT

5) Grandson / DI



A, B,C, D E FG,H, and | are the nine
members of a family. Either both the parents of
a person are alive or neither of them is alive. G
Is the daughter of B who is the daughter-in-law
of D. Cis the daughter of E who is the brother
of A. D is the mother of A. C and G are sisters.
| Is the paternal grandfather of F who is the
only son of H. D has no daughters.

How is E related to F?

E, F ¥ {59 yoR gafta 82

1) Father / foar

2) Grandfather /| JSWIER

3) Paternal Uncle / Ue-d 3iepel
4) Sister-in-law / ﬁl’\‘??%’l?[[
5) Brother-in-law / dg¥ 9 dI



A, B,C, D E FG,H, and | are the nine
members of a family. Either both the parents of
a person are alive or neither of them is alive. G
Is the daughter of B who is the daughter-in-law
of D. Cis the daughter of E who is the brother
of A. D is the mother of A. C and G are sisters.
| Is the paternal grandfather of F who is the
only son of H. D has no daughters.

How is F related to C?

F, C ¥ f5pg UoR Tt 872

1) Brother / ﬂ-l'lé

2) Sister /| dgd

3) Paternal Uncle / Ue-d 3ihd
4) Cousin / e

5) Maternal Uncle / AeHd 3id



In a family of 7 members A, B, C, D, E, F, and
G. Ais the grandfather of F. D is the mother of
B, who is sister-in-law of E. F is the son of E
who, is the husband of C. G is the brother of F.
There are two couples in this family.



In a family of 7 members A, B, C, D, E, F, and
G. Ais the grandfather of F. D is the mother of
B, who is sister-in-law of E. F is the son of E
who, is the husband of C. G is the brother of F.
There are two couples in this family.

How many female members are there in the
family ?

ufkaR # afgar T foat g7

1) 3
2) 5
3)4
4) 1
5) 2



In a family of 7 members A, B, C, D, E, F, and
G. Ais the grandfather of F. D is the mother of
B, who is sister-in-law of E. F is the son of E
who, is the husband of C. G is the brother of F.
There are two couples in this family.

How Is A related to D?

A, D ¥ {59 usr Hefta 82

1) Mother / HIdI

2) Husband / dfd 5
3) Father-in-law / WIGR-g-1-cll
4) Mother-in-law / HgR-g-d1
5) Brother /



In a family of 7 members A, B, C, D, E, F, and
G. Ais the grandfather of F. D is the mother of
B, who is sister-in-law of E. F is the son of E
who, is the husband of C. G is the brother of F.
There are two couples in this family.

How iIs C related to B?

C, B ¥ 59 yoR Tdfta 872

1) Son / YA
2) Sister / dgd
3) Daughter / gsﬁ

4) Brother / m'é .
5) Can't be determine / fuiia 8t forar

gPdl 8



There are seven members S, T, U, V, W, X and
Y in a family of three generations and two
married couples. No single parent has a child.
V and X are married couple. Gender of X and
W is same. U is the only daughter of S, who
has more than two children. Y is the daughter-
in-law of X, who is not in 2"4 generation. There
are less than two females in 39 generation.
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There are seven members S, T, U, V, W, X and
Y in a family of three generations and two
married couples. No single parent has a child.
V and X are married couple. Gender of X and
W is same. U is the only daughter of S, who
has more than two children. Y is the daughter-
in-law of X, who is not in 2"4 generation. There
are less than two females in 39 generation.
How is T related to Y?

1) Son

2) Nephew

3) Brother

4) Father

5) None of the above



There are seven members S, T, U, V, W, X and
Y in a family of three generations and two
married couples. No single parent has a child.
V and X are married couple. Gender of X and
W is same. U is the only daughter of S, who
has more than two children. Y is the daughter-
in-law of X, who is not in 2"4 generation. There
are less than two females in 39 generation.
How iIs V related to W?

1) Mother

2) Grandmother

3) Aunt

4) Sister

5) None of the above



There are seven members S, T, U, V, W, X and
Y in a family of three generations and two
married couples. No single parent has a child.
V and X are married couple. Gender of X and
W is same. U is the only daughter of S, who
has more than two children. Y is the daughter-
in-law of X, who is not in 2"4 generation. There
are less than two females in 39 generation.
How is mother of U related to the father of T?

1) Sister

2) Sister-in-law

3) Daughter

4) Wife

5) None of the above



There are seven members S, T, U, V, W, X and
Y in a family of three generations and two
married couples. No single parent has a child.
V and X are married couple. Gender of X and
W is same. U is the only daughter of S, who
has more than two children. Y is the daughter-
in-law of X, who is not in 2"4 generation. There
are less than two females in 39 generation.
How S related to X?

1) Sister

2) Son

3) Daughter

4) Wife

5) None of the above



There are eight members in a family of three
generations having two married couples. V
and W are siblings. T is brother-in-law of U. T
IS the only son of P. U has only two children. Q
IS married to P. P has no siblings. S is aunt of
T. U has no siblings and is married to R. V is

the only son of R.
At ol o wep ueare i a6 Hae & Rl d



There are eight members in a family of three
generations having two married couples. V
and W are siblings. T is brother-in-law of U. T
IS the only son of P. U has only two children. Q
IS married to P. P has no siblings. S is aunt of
T. U has no siblings and is married to R. V is
the only son of R.

If Q is female member then how is P related to
R?

1) Father

2) Brother in law

3) Father in law

4) Uncle

5) None of the above



There are eight members in a family of three
generations having two married couples. V
and W are siblings. T is brother-in-law of U. T
IS the only son of P. U has only two children. Q
IS married to P. P has no siblings. S is aunt of
T. U has no siblings and is married to R. V is
the only son of R.

If P is the father of R, then how is Q related to
the sister of V?

1) Mother

2) Grandmother

3) Uncle

4) Can’t be determined
5) Mother in law



There are eight members in a family of three
generations having two married couples. V
and W are siblings. T is brother-in-law of U. T
IS the only son of P. U has only two children. Q
IS married to P. P has no siblings. S is aunt of
T. U has no siblings and is married to R. V is
the only son of R.

How is T related to V?

1) Paternal Uncle
2) Maternal Aunt
3) Brother

4) Maternal Uncle
5) Paternal Aunt



There are eight members in a family of three
generations having two married couples. V
and W are siblings. T is brother-in-law of U. T
IS the only son of P. U has only two children. Q
IS married to P. P has no siblings. S is aunt of
T. U has no siblings and is married to R. V is
the only son of R.

How R related to S?

1) Daughter

2) Sister

3) Grand Daughter
4) Niece

5) None of the above



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except
third generation’s female.

What is relation between G with respect to C?
1) Aunt

2) Nephew

3) Daughter

4) Sister

5) Brother-in-law



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except
third generation’s female.

Who is son of G?

1) H
2) F
3) BothHand F
4) D
5) None of these



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except
third generation’s female.

Who is son-in-law of A?

1) G
2) D
3) F
4) H
5) None of these



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except
third generation’s female.

Who is nephew of E?

1) G
2) B
3) A
4) H
5) None of these



There are nine members A,B,C,D, E, F, G, H,
and | in a family among them only six male
members. D is grandmother of | who has no
children. B is daughter of A, whose spouse is
alive. | is daughter of G. H and F are brothers
and both are child of G. Ais married to D. Each
female has two sons and one daughter except
third generation’s female.

What is relation of E with respect to |?

1) Son

2) Uncle

3) Daughter

4) father

5) None of these






